Three Spins to Win (10A)

(spun a and

number nickels
dimes
quarters
dollars
| know that equals
number money total
Your furn.
my grand total is
is
greater than
less than
equal to

.

AN

/
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Fair Shares (10B)

[When _ kids share ____ cookies, each kid gets . }

Fair Shares (10B)

[When _ kids share ____ cookies, each kid gets . }

Fair Shares (10B)

[When _ kids share ____ cookies, each kid gets . }
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Gardener’s Friend (10C)

0

~

played for the .
| think the will gobble 300 pests first because :
&was away from 300. Y,

Gardener’s Friend (10C)

(plqyed for the . N
| think the will gobble 300 pests first because .
iwas away from 300. Y,

Gardener’s Friend (10C)

0

~

played for the .
| think the will gobble 300 pests first because .
&was away from 300. Y,
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Place Value Triple Roll (10D)

ﬁ\/e are playing for

more
~ = less
2
| rolled a
| think | should put it in the place because
hundreds
tens
® Ones

\Your turnl!

-

The blue team totalis
The red team total is

wins because

Blue tfeam
Red team

[

greater than
less than
equal to

and we were playing for

more
less
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Target 700 (10E)

ﬁ\/e are trying to build a number that is closest to 700. \
=S
| rolled a
| think | should put it in the place because
hundreds
tens
ones

@ur turn!

AN

The blue team total is
The red feam ftotal is

Blue tfeamis away from 700.
Red team is away from 700.
The wins because it is closer to 700.
blue team

\ red team /
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Indy 500 (10F)

ﬂe first run, my car went __ centimeters.

The second run, my car went ___ centimeters.

The third run, my car went ____ centimeters.

@y car went a total distance of centimeters.

At the end:

The difference between our totals is centimeters.

# Kathy Hunt, Justin Johnson & Math Language Supports PD 2nd Grade Team 4/25/2012 GR2 Unit 7 Work Places 10F



